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T =
No pN=L e SEEAFESIEESEEAFES RN PEON Rl kA Y FET
1 REKZE 160 | 74 |85 [ 81 |81 | 78 |559 [|27.65| 0.0 55.9 || 1
2| WEKFME 150 | 69 [ 86 |79 |82 | 7.7 [543 [|27.29| 0.0 543 || 4
3 dtimEKXRE 165 |76 |79 [ 71 |74 | 70 |535 [|25.90 | 0.0 535 || 5
4 MFEERKE 145 (66 | 76 | 57 | 54 | 6.0 [[458 [|29.57| 0.0 |-2.0 |438 || 10
5| KREXIEXZE 150 | 72 | 7.7 | 61 | 58 | 7.2 ||49.0 [|27.15| 0.0 490 9
6 BBk K2 160 | 67 |67 |74 |68 | 63 499 (2721 0.0 499 | 8
7 VPN 180 [ 69 | 75 | 78 | 69 | 7.5 | 54.6 [|27.81| 0.0 546 || 3
8 FEEXZE 165|169 |81 | 75 | 75 | 6.9 [[534 [|2897| 0.0 534 | 6
9| JtEXRZ+FE (15072 |82 |71 |79 | 74 [528 |[28.78| 00 |-2.0 |508 || 7
10| BBEINERKZSE (17577 (76 |81 | 80 | 70 (559 [2954| 00 [-1.0 |549 | 2
R’ B
No pN=L e SEEAFESIEESEEATES U PEON Rl kA Y FET
1 RiBAZEHME 160 |72 |67 [ 72 | 70 | 76 ||51.7 [|2740| 00 [ 00 |51.7| 3
2 hIEXER 150 | 80 | 65 | 7.2 | 68 | 80 |[51.5 [|2867| 00 | 00 |515 | 4
3| BERIERKSE |155| 74 [ 68 | 67 |72 | 87 |523|[3050|-05| 00 [51.8 | 2
4 REREKZ 165 |78 [ 72 [ 73 | 80 | 88 |/556 [|2897| 00 [ 00 |556 | 1
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